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Third Semester B.Com.3 Degree Examihation, November/December 2016
Paper — | : BUSINESS STATISTICS - |
(Fresh & Repeater New Syllabus)

Time : 3 Hours : Max. Marks : 80

Instructions: 1) Use of simple calculator is allowed.
2) Statistical tables are supplied onrequest.

SECTION-A
QI — &

1. Answer any ten of the following. (10x2=20)
3PN CInYTRTTe 10 TIMOr GUZORD.

a) Define statistics.
a’oméaa:); o way@ja BRRO. .

b) What do you mean by primary data and secondary data ?

s TR,BE R 3083 8,8e0308 TR 0BT ?

c) Name the methods of sampling.
QT $030Z00 NG aimaidmfdl TROR.

d) Name different types of Bar diagrams.
‘FotT Beoatde s 0T @’fadr{@ésg‘ EPD.

e) Define Quartile.
BBFFE MY 39,35 BRRO.

f) Define dispersion.
TOROVFOD 539,33, BRRO.

g) Define skewness.
DRBIBOD w8, ERTO.

h) Define mutually exclusive events.
“TORT =0T PUIN” 9,83, 3RRO.

i) Define probability of an event A.
‘A eI #oaﬁﬁ@eo&o@oﬁo&z{ 29,85, BRRD.

j) Define Random Variable.
:ﬁoa;aa% WOBT 539,83 ZPRO.
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k) If E(X) =5 and E(X?) = 74, find the standard deviation of X,
E(X) = 5 &3y E(X?) = 74 faw%n’ X' @008 éozifoﬁojadaq FOTORWD.
) Define Time Series. '
503,ec3030 339,28, FRR0.

SECTION-B
QYTIN— W

Answerany three of the following. (3x5=15)
FINT CIRFTRESe 3 [IRK wugo20.

2. Draw a percentage bar diagram for the following data.
33 3INS aazsiﬁ FeBrEam0d Fog 8@95923@553‘ WERO.

Expenditure Family A Fan.1i'ly B
ANBF R BEDOWA BtdowB
(Rs.) (Rs.)
Food (¢&s590) 4,000 6,000
Clothing (20EEE0) 1,500 2,000
Education (éisa) 1,000 2,500
H.R. (303 woanr) 2,000 3,000
Others (233) 1,500 2,500

3. Calculate mean deviation about median for the following data.
B3 FPNS aasxév ﬁaw%oé@ocﬁ RTRO azﬁeﬁoﬁoaﬁi FOTOZEONO.
x 8 2 4 3 9 14 20 13
4. Given that Firm A Firm B
RoeR0 Mean X =56 Y =68
ST dos S.D. (X)=11.73 S.D(Y)=17.14

Find who is more consistent ?
03N FoTIOIN azs% P%déojasg( BROOT AOTD PO P

5. Calculate 3 yearly moving averages for the following data.
33 FINT IRE, BT B ecdd WO RODROCIR), BOTOEEONO.
Year 1995 1996 1997 1998 1999 2000 2001 2002 2003
Yt 180 165 210 200 170 170 160 200 210
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If X’ is random variable taking the values 10 and 20 with respective probabilities

Now’sﬁ‘c’oeojaé
FOBILBOO.

-0.6and 0.4. Find E(X) and S.D. X.
QO ESTR

BoFR) 10 =08Y 20 8 WSNFIY, 3,@owaN 0.6 =023y 0.4 83
oon SRBBRITS. 85 W73, EX)~

Answer any two questions.

BSND C3NR)TTITR AT BIrort LUgoR0.

SECTION-C
RPN —3F

7. a) Define coefficient of variation.
QWD TOTIOFT 539,83, BRRO.

&8y S.D. X d?jei’n’%?’ﬁo

b) Which of the following two series is more consistent and why ?
83 SN 0RO MIoTINTS_ 03T 0 éz&’% %da’odaaﬁgt BROOT 08Y DF ? 20T EPA.

X
Y

136
86

129

83

120
64

137
75

134
78

156
107

FRTT 53083 AT QRBOS DOTTERD ?

140
96

165
111

a) What do you mean by Positive and Negative skewness.

170
123

173
137

=% FSNS zm?jﬁéﬁ FOFE LOVRE T DRROBOI rbmo%w&l BOTIEOND.
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-

two uses of diagrammatic representation data.

Sesmisd s wSeed SR SRAF S ATk LK. eI SIRD |
mwojmeﬁﬁ#'&ga W3oWO.

‘mode graphically.
B3NS 5, Né foowadeéD =02 wd k) uaa’azﬁom%éodsﬁa e3e303) TOBOID &30ee3 BrR00D
Iorodoe w&oﬁdm rbdaéfo

(2x15=30)

(3+12)

b) Calculate Karl Pearson’s coefficient of skewness for the following data.

(3+12)

a) Distinguish between diagrammatic and graphic representation of data. Write

b) Draw hlstogram and frequency polygon for the following data and hence obtain

(5+10)

lei
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10. a) Define Mathematical Expectation.
Ne3BgE DOETFSONR) 359,579, .

b) In the following probability dlstrlbutlon find the missing probability and find
the mean and variance.

33 FYNT F0LRVCO3E VST FHTIBRCT Nowdaeo:béw z:?efmw 3oc§aoo®zsa
ROIRD 398 aquosm FOBBILBOD.

X 4 6 8 10 12
P = 2 L. 5+10
i B o R Fest)
SECTION-D
QWIN— T
Case Study. ' - (1x15=15)
T FOLD g 0DV DR

11. Mr. Robin and Mr. John own a small company that manufactures portable T.V.
Tables in Mangalore. Since they started the company the number of Tables they
have sold is represented by this time series.

Year 1997|1998 | 1999 | 2000 | 2001 | 2002 | 2003 | 2004 | 2005

Tables sold | 42 50 51 § LS 92 111 | 120 | 127 | 130

a) Fit a straight line Trend and estimate trend values for all the given years,
estimate sales of Tables for the year 2007.

b) Draw a straight line for trend values.
c) What is the yearly increase in the sales of Tables ?

DOV &P wen” AR WooneeoIY, Aeg T.V. Bewr nedd BOIR0ROR WSF T

25300 00LIROT B3O [ROT Ee2e” ne z’)oaf?j aoz’;.@séojaa’% ZReDRTT.

SR 1997 | 1998 | 1999 | 2000 | 2001 | 2002 | 2003 | 2004 | 2005

IR0 dewernwmosd| 42 | 50 | 51 | 75 | 92 | 111 | 120 | 127 | 180

a) ﬁae%fé%d ©od Fosgner RoSeam @’ddgcmdl €90TIOIR wdmﬁi BOTRIEREOD.
20073&) =000e3e5m0s e Y 5083 D ?

b) B2 WSHER ST, FTFSesToRR P02

C) 3 NS BRTWTY | T SRF T D0F 2R ?




